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1. The principal complied

the student's

request.
A) on
B) at
C) with
D) for

Correct Answer: C
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2. The of

puppies is fond of milk.
A. Gang

B. Group

C. Litre

D. Litter

Correct Answer: D
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3. We shall go for a picnic

If the weather good.
A. Has been

B. Was

C. Had been

D. Is

Correct Answer: D
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4. weight gain

or weight loss is not good
for your body.

A. Excessive

B. Extensive

C. EXxpressive

D. Explosive

Correct Answer: A
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5. The shepherd was

looking after the
of sheep.

A. crew

B. gang

C. fleet

D. flock

Correct Answer: D
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6. Many of us Dbelieve that
science Is something modern
the truth is otherwise.

A. If

B. Unless
C. But
D. Asif

Correct Answer: C
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7. | your parents that | would

take care of you.
A. promised

B. alerted

C. said

D. forced

Correct Answer: A
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8. If you write a forty-page essay

In one night,
you'll accomplish a

huge
(a) treat
(b) feat
(c) fleet
(d) Beat
(b); feat means an achievement

that requires




SSC CGL/CHSL TIER 2 (CRASH COURSE)

9.The president's coterie of
advisers was unable to
offer him a to the

national problem.
(a) solvent
(b) solute
(c) solution
(d) Mixture
Ans - (c)Solution
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10. If you are caught using a
calculator in the exam

then it will be

(a) taken

(b) confiscated

(c) Confisticate

(d) under possession

(b); Confiscate means take or
seize (someone's

Nnraoanariyv7 wiith arnitharvityvy
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11. and my younger
brother went to the

movies all by ourselves.

(a) |

(b) Mine

(c) Myself

(d) My own self

(a); | Is the correct option. In the
subjective case

subjective pronoun should be
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Q12. The thieves took to heels as

they heard the siren.
a. Moved back

b. Ran away

c. Took off their shoes
d. Put on the shoes

Answer: b. Ran away



SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q13. | cannot put up with
your insulting behaviour

now.
a. Refuse
b. Accept
c. Excuse
d. Tolerate

Answer: d. Tolerate
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Q14. Tell me the name of the
culprit, do not beat about the

bush.

a. Try to influence

b. Put any blame on others
c. Argue

d. Avoid talking about the

matter
Answer: d. Avoid talking

about the matter
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Q15. | wasn't well last
month, but | am back in

pink now.
a. Relaxed

b. Healthy
c. Looking pink
d. To work

Answer: b. Healthy
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Q16. The mob outside the police
station was up in arms against the
recent incidence of child abuse.

a. Vandalising the check post
b. Pained

c. Shouting slogans

d. Angry

e

Answer: d. Angry
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Q17. Nobody takes
Reema's complains
seriously as she Is a cry
wollf.

a. Raises false alarms

b. Selfish

c. Always keeps crying

d. Always complaining
Answer: a. Raises

false alarms
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Q18. Today being the
inauguration of his new

shop, it is a red letter day

for him.
a. Special day

b. Red day
c. Hectic day

d. Busy da
yAns(Xler: a.
Special
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Q19. This project is a
Gordian knot.

a. Ordinary project

b. Big project

c. Easy job

d. Difficult job

Answer: d. Difficult
job
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Q20. The executive is
temporarily taking care of the
cash and is trying to feather his
nest.

a. Bring discipline

b. Get more transparency L@
c. Act for his own fut

benefits

anewin§eridFunds own

future benefits
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HOME WORK

We feared the enemies
attack because they
everything in their path.
(a) satiate

(b) quench

(c) remedy

(d) Incinerate
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D Home Work 7

Answer

The money was stolen by an employee
of the bank.

A. An employee of the bank had stolen
the money.

B. An employee of the bank steal the
money.

C. An emplovee of the bank stole the
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